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2. What does the following program print? (10%)

class Ex2

#Aram 4300 HARBRIE F E LA R AT {
C el I

public static void main(String[] args)

{
r2(5);
System.out.println(); /' go to next line

EEFR }

//
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2. HARY KM « FHEGHENL » Robih A o ;{)ubhc static void r2(int x)
SAMBERABRALRBEZEEMNEL  FRAXRFH4 - if (x = 0)
1 X::

System.out.print("E");

1. What does the following program print? (10%) else
class Ate if (x==1)
{ {
public Ate() System.out.print("A");
{ 6. . :
System.out.println("Ate constructor™); 12(6); // parameter value jumps up to 6
} System.out.print("B");
} }
4 else
class My extends Ate (
{
public My() System.out.print("C");
{ 12(x - 2);
System.out.println("My  constructor"); System.out print("D");
b o ’
) }
/f
class Pie extends My )
{
public Pie()
{
System.out. println("Pie constructor");
}
}
%
class Ex1
{
public static void main(String[] args) ETE FhoYhARE
{ A\

Pie ¢ = new Pie();

}
}




4. Consider the following page-reference string:
1,2,3,4,2,1,5,6,2,1,2,3,7,6,3,2,1,2,3,6

3. What does the following program print? (10%) How many page faults would occur for the FIFO, Optimal and LRU replacement
class R algorithms, assuming three frames? Remember that all frames are initially empty, so your
{ public void xDisplay() first unique pages will all cost one fault each. (15%)
{ // dummy method
}
/}/ 5. Describe what Classes A, B and C of IP addresses are. (15%)
/
class P extends R // P subclass of R
{
private int x = 1;
public void xDisplay() 6. Consider a channel on which errors are isolated and the error rate is 107 per bit. Let the
{ block size be 1000 bits. To provide error correction for 1000-bit blocks, 10 check bits are
System.out.println("x ="+ x); needed. To merely detect a block with a single 1-bit error, one parity bit per block will
) ; suffice. Assume that one megabit data is transmitted on that channel. What are the total
// overheads for the error detection method and error correction method? (10%)
class Q extends R // Q subclass of R
{
private int x = 2;
public void xDisplay() . .
{ 7. Write the status of the list (26, 5, 77, 1, 61, 11, 59, 15, 48, 19) after each phase of the heap
System.out.println("x =" + x); sort algorithm. (15%)
}
}
/!
class Ex3 . . . .
{ 8. Explain and compare three ways to pass arguments in method calls (or function calls) in
public static void main(String[] args) many programming languages: call-by-value, call-by-address, and call-by-reference.
{ (15%)
R[] z=new R[3]; /[ create R array
z[0] = new P(); ‘ // init array with objects
z[1] = new Q(); // of different types
z[2] = new P();
for (int i = 0; i < z.length; i++)
z[i].xDisplay();
}




